948 (K9n6)

Linearized knot diagam
1/(\/
9 )
/G‘T)\\J 5 7 9 2 4 3 6 4 3
’ \ / Solving Sequence

1

"
3,94> 4,74> 2 6 5 1 8 Cy4,C7,C9
A knot diagrarrﬂ 3 €2 6

Cs C1 &3]
Ideals for irreducible component#ﬂ)f Xpar
I'={(b—-u, —u’>+a, v>—u>+u+1)

Iy =

(
(
Y= (u? +b+u, v +2u* +a+2u, v +u® +u?+1)
(
(

* 5 irreducible components of dim¢ = 0, with total 17 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(b—u, —u*+a, v>—u?+u+1)

(i) Arc colorings
w= )
o
-
o

a= (V)
e
e
(
(

ayp =

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6u + 8



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
w4 ud+u—1
C4,Cg,Cg
C9
Cs,C7 wWHur+3u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4,Cg, C8 y3+y2+3y_1
Cg
3 2
Cs,C7 y? 4+ 5y  + 11y —1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1C)

Cusp shape

uw= 0.771845 4 1.1151401
a = —0.64780 + 1.721431
b= 0.771845 + 1.1151401

2.02941 4 9.531881

3.36893 — 6.690861

uw= 0.771845 — 1.1151401
a = —0.64780 — 1.721431
b= 0.771845 —1.1151407

2.02941 — 9.531881

3.36893 + 6.69086.1

u = —0.543689
a= 0.295598 0.875992 11.2620
b= —0.543689




ILIY=(b—u, —u*+a+1, v*+u®+u?+1)

(i) Arc colorings
o ()
o
o=
o
e ()
=
(
(
(

as =

ayp =
—u
as = \ud +u
—u
ag = \u®+u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy w4+ 20 +3u +3u+2
€2, €3, Ce S S B
€8, C9
] ut 4+ 2u® +u? + 3u 44
7 uwHud+3u+2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cq vyt +2y° +y* + 3y +4
€2,€3,C6 vy 3y 2y +1
s, Co
Cs yt =20 -3y —y + 16
cr yt +5y° + Tyt + 2y + 1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.351808 + 0.7203421
= —1.50411 — 0.106311
= 0.351808 + 0.7203421

—3.50087 + 1.415101

2.17326 — 4.908741

= 0.351808 — 0.7203421
= —1.50411 4+ 0.106311
0.351808 — 0.7203421

—3.50087 — 1.415101

2.17326 4 4.908741

= —0.851808 + 0.911292]
= 0.504108 + 1.2268501
= —0.851808 + 0.9112921

3.50087 — 3.163961

5.82674 4 2.564801

= —0.851808 — 0.911292]
= 0.504108 — 1.2268501
= —0.851808 — 0.9112921

3.50087 + 3.163961

5.82674 — 2.564801




I I = (u? + b+ u, u®> +2u® +a+2u, u* +u3+u?+1)

(i) Arc colorings
o ()
o
=
oo
= (V07
(
(
(
(

ag =

a5 = 3 2
—u
ayp = —Uu
—u
as = uS + Uu
—u
ag = \u?+u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4 u4_u3+u2+1
s, C9
C2,Cq ut +2u® + 30 +3u+2
] ut+ud +3u? +2u+1
¢ ut + 20 +u? 4+ 3u+ 4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y4+y3+3y2+2y+1
s, C9
C2,Cq yt+2y° + 4% + 3y +4
€5 yt +5y° + Tyt + 2y + 1
cr yt =20 -3y —y + 16
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape
= 0.351808 + 0.7203421
= 0.59074 — 2.348061 —3.50087 + 1.415107 | 2.17326 — 4.908741

= 0.043315 — 1.2271901

0.351808 — 0.7203421
0.59074 + 2.34806.1 —3.50087 — 1.415101 2.17326 4 4.908741
0.043315 + 1.2271901

—0.851808 4 0.9112921
0.409261 + 0.0555481 3.50087 — 3.163961 5.82674 4 2.564801
0.956685 + 0.6412001

—0.851808 — 0.9112921
0.409261 — 0.0555481 3.50087 4 3.163961 5.82674 — 2.564801
0.956685 — 0.6412001

> & €|l & 8| & 8|l & &
I
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IV. I} =(—u*4+u?*+b—u+1, —ud+2a+u—1, u* —2u® 4 3u® — 3u+2)

(i) Arc colorings

w= (o)

0
ag = u
1
a4 = _u2
b= but }
ar= \ud—ul+u—1
R
az = —uwd 4 u? —2u+1
it~ ut
aeg = w—u?+u—1
b+ us
as = ]_
—u
ay = —u
—u
ag = \ud3+u
—u
ag = \uyd3+u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C4 I P B |
Co
c3,Cg, Cy ut + 20 + 3u? 4+ 3u+2
cs,C7 vt ud +3u+2u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq y4+y3+3y2+2y+1
Co
€3, €8, Cg v +20° + 7 + 3y +4
Cs, 7 v+ 5yt + T+ 2y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

0.956685 + 0.6412001
—0.130534 + 0.4278721 3.50087 — 3.163961 5.82674 4 2.564801
—0.851808 + 0.9112921

0.956685 — 0.6412007
—0.130534 — 0.4278721 3.50087 4 3.163961 5.82674 — 2.564801
—0.851808 — 0.9112921

0.043315 + 1.2271907
0.38053 — 1.534201 —3.50087 — 1.415101 2.17326 4 4.908741
0.351808 — 0.7203421

0.043315 — 1.2271907
0.38053 + 1.534201 —3.50087 + 1.415101 2.17326 — 4.908741
0.351808 + 0.7203421

> & €|l & 8| & 8|l & &
I
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V.I)! =(b+u, a+2u+1, u?+1)

(i) Arc colorings
1
asz = O
ag = (
ayq = (
a7 = (
u—1
as = —1
ag = (
as — (
ayp = (
ag = (
—u
ag — 0
(ii) Obstruction class =1

(iii) Cusp Shapes = —4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
2
C4,Cg,Cg u” + 1
Cg
2
Cs, C7 (u + 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
2
C4,Cq,C8 (y+1)
cy
Cs,C7 (y—1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¢

V=1(vol + y/=1C)

Cusp shape

u =

b:

1.0000001
—1.00000 — 2.000001
— 1.0000001

—4.93480

—4.00000

— 1.0000001

= —1.00000 + 2.000001

b:

1.0000001

—4.93480

—4.00000
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VI. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C2,C3
€4, Co, C8 (w? + 1) (u® +u? +u—1D)(u* —u® o + 1) +2u® + -+ 3u+2)
C9
cs, Cr (w+1)%(u® + u? + 3u — 1) (u* + u® + 3u® + 2u + 1)?

(ut + 20 + 0?4 3u+ 4)
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VII. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,€2,C3
e o e (y+ 17" +y° +3y — D" +y° +3y" + 2y +1)°
co Syt 2ty 3y 4 4)
e, cn (y = (5 +5y* + 11y — 1)(y" — 2 — 3y* — y + 16)

Syt + 5y + Ty + 2y + 1)?
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